Math 2550-04 9 23/24

EX: Solve a+3b-2c +2e =0 2a + 6b - 5c - 2d + 4e - 3f = -15c + 10d + 15f = 5+8d+4e+18f=62a + 6b(already I here) We get that: make these O $-ZR_1+R_2\rightarrow R_2$ -ZR, + Ry-)Ry

Solve for leading variables and give the free variables New names.

a = -3b + 2c - 2eŚ c = 1 - 2d - 3f $f = \frac{1}{3}$ b = Sし = た e = u

Back substitute:
(a)
$$e = u$$

(b) $d = t$
(c) $b = s$
(c) $f = \frac{1}{3}$
(c) $c = (-2d - 3f = (-2t - 3(\frac{1}{3}) = -2t))$

$$(\hat{D} \alpha = -3b + 2c - 2e = -3s + 2(-2t) - 2u$$

$$= -3s - 4t - 2u$$

Answer:

$$a = -3s - 4t - 2u$$

 $b = s$
 $c = -2t$ Where
 $d = t$ Solution
 $f = \frac{1}{3}$ Numbers
There are an infinite # of solutions
For example, if $s = 1$, $t = 0$, $u = 2$
we get this solution
 $(a,b,c,d,e,f) = (-7,1,0,0,2,\frac{1}{3})$

(i) You get something like 0=5 (in) when you have free variables

When you have a non-zero
number like 4 you can
find its inverse under
multiplication. The inverse
is
$$4^{-1} = \frac{1}{4}$$
. The property is
 $4 \cdot 4^{-1} = 4 \cdot \frac{1}{4} = 1$

Our idea is to try to do this with square matrices and I is subbed with the identity matrix In. Def: Let A be an nxn matrix [Ie A is a square matrix] We say that A is <u>invertible</u> if there exists an nxn Matrix B where

$$AB = In$$

and
$$BA = In$$

 $TF AB = T_n = BA_j$ then we say that A and B are inverses of each other.

$$\frac{Ex}{2} = \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix}$$

and
$$B = \begin{pmatrix} -1 & 1 \\ 2 & -1 \end{bmatrix}$$
.
$$I = \begin{bmatrix} 1 & 1 \\ 2 & -1 \end{bmatrix}$$
.
$$I = \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \begin{pmatrix} -1 & 1 \\ 2 & -1 \end{bmatrix}$$

We get
$$AB = \begin{pmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \begin{pmatrix} -1 & 1 \\ 2 & -1 \end{bmatrix}$$
$$= \begin{pmatrix} (1 & 1) \cdot \begin{pmatrix} -1 \\ 2 \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ 2 \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ 2 \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} 1 \\ -1 \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ 2 \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ -1 \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ -1 \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ 2 \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ -1 \end{pmatrix} \\ (2 & 1) \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ -1 \end{pmatrix} \\ (2 & 1) \end{pmatrix} \\ (2 & 1) \cdot \begin{pmatrix} -1 \\ -1 \end{pmatrix} \\ (2 & 1) \end{pmatrix} \\ (2$$

 $=\begin{pmatrix} -1+2 & 1-1 \\ -2+2 & 2-1 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} = \mathbb{T}_{2}$

 $Also, \qquad \begin{pmatrix} -1 & 1 \\ z & -1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ z & 1 \end{pmatrix}$ $= \begin{pmatrix} -1+2 & -1+1 \\ 2-2 & 2-1 \end{pmatrix}$ $= \begin{pmatrix} 0 & 1 \\ 0 & 1 \end{pmatrix} = \mathbb{I}_{Z}$

Thus, $AB = I_2$ and $BA = I_2$. So, A and B are both inverses of each other.